Answer all guestions from 1 to 5.

Each carry one score. (5% 1=5)

[

The number of symbols used in

a number system 1s called ........

2. Pictorial representation of an

algorithm is known as .........

3. What 1s the escape sequence
character for new line in C++

program?

4. The starting symbol of a
preprocessor directive

statement 18 .........

5. Write the full form of MAC,

Answer any nine questions
from 6 to 16. Each carries two

scores. (9x2=18)

6. What is the importance of
registers in computer system?

Name any two registers.

7. What do wyou mean by
humanware? Give any two

examples.
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22. a) What is constant? 22. a) Constant agymonh agymi?
b) Write the keyword for b) Constant adlgewd aaigpoio
constant declaration in C++, C++ m palewouleaym

dslecudoy e,
) Give an example. S

¢) &y HrIeoREM. )R

23, Explain the different types of 23. aladwmes censlentd BOa/BOROL
logical operators. Bageaclal allodsmloee.
24. Consider the following code. 24. syouss SBISITTIAN SN Gaboal
d i el .
int i=1;
int i=1;
for{; ;)
for(; ;)
{

cout<<i<< iny

coub=<ic<ti\n" -

}
/ : }
a) Find the output.

a LT S lig] .
b) Rewrite the code by using ) OIS daaldene,

while loop with i<=10 and b) anens@om slsdicnoate
i=i+2 in appropriate place cudammormon] 1<=10 2o
for successful code execution. i=1+2 9o @awymIw muselmm

pesnoagla while loop
DrEioilaf esmon D3Hlag) s ymien.

25. a) Define Network Topology. | 25, a) emgudes BS0Gq ope]

b} Compare Ring Topology b2 foeys.
with Star Topolagy. b) e’ -mseacr:-dsgse“@;o o
es0daoasloe monmoe LAWY
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30. a) List the four components of

a Loop Statements.

b) Write a C++ program to find
the sum of numbers upto 100

by using any loop statement.

30, a)

b)
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